

MONOTONICITY AND SUMMABILITY OF SOLUTIONS OF A SECOND ORDER NONLINEAR DIFFERENCE EQUATION

BY

E. THANDAPANI, JOHN R. GRAEF*, AND PAUL W. SPIKES*

Abstract. The authors consider the nonlinear difference equation

$$(*) \quad \Delta(p_{n-1}f(y_{n-1})\Delta y_{n-1}) = q_n g(y_n)$$

and obtain results on the asymptotic behavior of solutions of (*) including sufficient conditions for all solutions to be bounded. Some results comparing the behavior of solutions of (*) to solutions of the linear equation

$$\Delta(p_{n-1}\Delta y_{n-1}) = q_n y_n$$

are also obtained. The nonlinear limit-point/limit-circle problem is introduced, and a sufficient condition for all solutions of (*) to be of the nonlinear limit-point type is proved.

1. Introduction. In this paper we study the asymptotic behavior of solutions of nonlinear difference equations of the type

$$(1) \quad \Delta(p_{n-1}f(y_{n-1})\Delta y_{n-1}) = q_n g(y_n)$$

where Δ denotes the forward difference operator defined by $\Delta y_n = y_{n+1} - y_n$, $\{p_n\}$ and $\{q_n\}$ are real sequences, and the functions $f, g : \mathbb{R} \rightarrow \mathbb{R}$ are

Received by the editors July 27, 1994.

AMS subject classification(1991): 39A10, 39A11.

Key Words and Phrases: Asymptotic behavior, difference equations, monotonicity, nonlinear, nonlinear limit-point, nonlinear limit-circle, summability.

*Research supported by the Mississippi State University Biological and Physical Sciences Research Institute.

continuous. By a solution of (1) we mean a real sequence $\{y_n\}$ satisfying (1) for $n \geq n_0$ for some $n_0 \geq 0$. We consider only such solutions which are nontrivial for all large n .

The following conditions are assumed to hold throughout the remainder of this paper. There is an $N_0 \in \mathbb{N} = \{1, 2, \dots\}$ such that:

- (i) $p_n > 0$ and $q_n \geq 0$ for $n \geq N_0$ and $q_n \neq 0$ for $n \geq N_1$ for any $N_1 \geq N_0$;
- (ii) $f(r) > 0$ and $rg(r) > 0$ for all $r \neq 0$.

A solution $\{y_n\}$ of (1) is *bounded* if there exists $M > 0$ such that $|y_n| \leq M$ for all $n \geq N_0$, and $\{y_n\}$ is *nonoscillatory* if the terms y_n are eventually all of the same sign.

The qualitative behavior of solutions of special cases of equation (1), especially when $q_n \leq 0$, have been examined by a number of authors, for example, see [2, 3, 6-15] and the references contained therein. For additional references, the reader is referred to the recent monograph by Agarwal [1]. In this paper we study the asymptotic behavior of the solutions of equation (1), and in Section 2, we give some sufficient conditions for all solutions to be bounded. This extends a results for linear equations obtained in [3]. Section 3 contains some results on the asymptotic relationships between the solutions of (1) and the solutions of the second order linear difference equation

$$(2) \quad \Delta(p_{n-1}\Delta u_{n-1}) = q_n u_n.$$

In Section 4, we introduce the study of nonlinear limit-point/limit-circle problems for difference equations.

2. Monotonicity. We begin with two propositions giving some basic information about the behavior of solutions of (1).

Proposition 1. *Every solution of equation (1) is nonoscillatory.*

Proof. Let $\{y_n\}$ be an oscillatory solution of (1). Choose an integer $N \geq N_0$ such that $y_{N-1} \leq 0$ and $y_N > 0$. Now from (1)

$$\Delta y_{N-1} [\Delta(p_{N-1}f(y_{N-1})\Delta y_{N-1})] = (\Delta y_{N-1})q_N g(y_N) > 0,$$

so

$$\Delta y_{N-1}[p_N f(y_N)\Delta y_N - p_{N-1}f(y_{N-1})\Delta y_{N-1}] > 0.$$

Hence,

$$p_N f(y_N)\Delta y_N \Delta y_{N-1} > p_{N-1}f(y_{N-1})(\Delta y_{N-1})^2 > 0,$$

from which it follows that $\Delta y_N > 0$. Thus, $y_{N+1} > y_N > 0$. Repeating the above argument by taking equation (1) at $n = N + 1$ and multiplying by Δy_N , we obtain $\Delta y_{N+1} > 0$ so $y_{N+2} > 0$. Continuing this process, we have $y_n > 0$ for $n \geq N$, which is a contradiction.

Proposition 2. *Let $\{y_n\}$ be any solution of (1). Then $\{y_n\}$ is either eventually increasing or eventually decreasing.*

Proof. Since equation (1) is nonoscillatory, we may assume y_n is of one sign, say $y_n > 0$ for all $n \geq N$ for some $N \geq N_0$. Consider the sequence $\{F_n\}$ defined by

$$(3) \quad F_n = y_n p_n f(y_n) \Delta y_n, \quad n \geq N.$$

Then

$$\begin{aligned} \Delta F_n &= y_{n+1} \Delta(p_n f(y_n) \Delta y_n) + p_n f(y_n) (\Delta y_n)^2 \\ &= y_{n+1} q_{n+1} g(y_{n+1}) + p_n f(y_n) (\Delta y_n)^2 \\ (4) \quad &\geq 0. \end{aligned}$$

Suppose there exists an integer $N_1 \geq N$ such that $\Delta y_{N_1} > 0$. Since y_n, p_n , and $f(y_n)$ are positive, (3) and (4) imply that $\Delta y_n > 0$ for $n \geq N_1$, which in turn implies $\{y_n\}$ is increasing for $n > N_1$.

If there does not exist an integer $N_1 \geq N$ such that $\Delta y_{N_1} > 0$, then it must be the case that $\Delta y_n \leq 0$ for $n \geq N_1$. Now for any $n_1 \geq N_1$ there exists $n_2 > n_1$ such that $q_{n_2} > 0$. Hence

$$\begin{aligned}
 0 &\geq p_{n_2} f(y_{n_2}) \Delta y_{n_2} \\
 &= p_{n_2-1} f(y_{n_2-1}) \Delta y_{n_2-1} + q_{n_2} g(y_{n_2}) \\
 &> p_{n_2-1} f(y_{n_2-1}) \Delta y_{n_2-1} \\
 &= p_{n_2-2} f(y_{n_2-2}) \Delta y_{n_2-2} + q_{n_2-1} g(y_{n_2-1}) \\
 &\geq p_{n_2-2} f(y_{n_2-2}) \Delta y_{n_2-2} \\
 &= p_{n_2-3} f(y_{n_2-3}) \Delta y_{n_2-3} + q_{n_2-2} g(y_{n_2-2}) \\
 &\geq \dots \\
 &\geq p_N f(y_N) \Delta y_N.
 \end{aligned}$$

Therefore, $\Delta y_n < 0$ for every n with $N \leq n \leq n_2 - 1$. Since such arbitrarily large n_2 always exist, we have $\Delta y_n < 0$ for all $n \geq N$, i.e., $\{y_n\}$ is decreasing.

Remark 1. Proposition 2 generalizes to nonlinear equations some results in [3] that are for linear equations (see [3; Lemmas 1 and 2]).

We now divide the set of all solutions of equation (1) (or (2)) into two classes. A solution is said to belong to Class \mathcal{A} if it is eventually either positive and increasing or negative and decreasing; a solution belongs to Class \mathcal{B} if it is eventually either positive and decreasing or negative and increasing.

Clearly, all solutions of Class \mathcal{B} are bounded; for solutions of (2) of Class \mathcal{A} we recall the following known results.

Proposition 3. ([3, Theorem 4]) *Every (Class \mathcal{A}) solution of (2) is bounded if and only if*

$$(5) \quad \sum_{n=1}^{\infty} \frac{1}{p_n} \sum_{k=1}^n q_k < \infty.$$

Proposition 4. ([3, Lemma 6]) *For every (Class \mathcal{A}) solution $\{u_n\}$ of (2), the sequence $\{p_n \Delta u_n\}$ is bounded if and only if*

$$(6) \quad \sum_{n=1}^{\infty} q_{n+1} \sum_{k=1}^n \frac{1}{p_k} < \infty.$$

Proposition 5. ([3, Theorem 6]) *Assume that equation (2) has unbounded solutions. Then every solution of Class B tends to zero as $n \rightarrow \infty$ if and only if*

$$(7) \quad \sum_{n=1}^{\infty} q_{n+1} \sum_{k=1}^n \frac{1}{p_k} = \infty.$$

Proposition 6. *If condition (6) holds, then for every unbounded solution $\{v_n\}$ of (2) we have*

$$(8) \quad v_n \sim K \sum_{s=1}^{n-1} \frac{1}{p_s} \quad (K \neq 0).$$

Proof. It follows from (2) and Proposition 4 that every positive unbounded solution $\{v_n\}$ of (2) is of Class A, $\{p_n \Delta v_n\}$ is monotone increasing, and

$$\lim_{n \rightarrow \infty} p_n \Delta v_n = K < +\infty.$$

If

$$\sum_{n=1}^{\infty} \frac{1}{p_n} < \infty,$$

then $\{v_n\}$ is bounded, and this is a contradiction. Thus, we can apply L'Hôpital's rule to obtain

$$\lim_{n \rightarrow \infty} \frac{v_n}{\sum_{s=1}^{n-1} \frac{1}{p_s}} = \lim_{n \rightarrow \infty} p_n \Delta v_n = K,$$

so (8) holds.

Next, we extend some of the above results to the nonlinear equation (1).

Theorem 1. *Suppose condition (5) holds,*

$$(9) \quad f/g \text{ is nondecreasing,}$$

and there exists $M > 0$ such that

$$(10) \quad g(r) \text{ is nondecreasing for } |r| \geq M.$$

Then every solution of equation (1) is bounded.

Proof. We can consider without loss of generality only Class \mathcal{A} solutions since every solution in Class \mathcal{B} is bounded. Let $\{y_n\}$ be a Class \mathcal{A} solution of (1) and suppose $y_n > 0$ and $\Delta y_n > 0$ for all $n \geq N_1$ for some $N_1 \geq N_0$. (The case $y_n < 0$, $\Delta y_n < 0$ for all large n is similar, and the proof will be omitted.) If $\{y_n\}$ is unbounded, then there exists an integer $N \geq N_1$ such that $y_n \geq M$ for all $n \geq N$. Let $\{u_n\}$ be a solution of (2) that belongs to Class \mathcal{A} for all $n \geq N - 1$ and satisfies

$$(11) \quad u_N f(y_{N-1}) \Delta y_{N-1} - g(y_N) \Delta u_{N-1} < 0.$$

From equations (1) and (2), we have

$$\frac{\Delta(p_{n-1} f(y_{n-1}) \Delta y_{n-1})}{g(y_n)} = q_n = \frac{\Delta(p_{n-1} \Delta u_{n-1})}{u_n}$$

for $n \geq N$, so

$$u_n \Delta(p_{n-1} f(y_{n-1}) \Delta y_{n-1}) = g(y_n) \Delta(p_{n-1} \Delta u_{n-1}).$$

Since

$$u_N \Delta(p_{n-1} f(y_{n-1}) \Delta y_{n-1}) \leq u_n \Delta(p_{n-1} f(y_{n-1}) \Delta y_{n-1}),$$

a summation from N to $n > N$ yields

$$u_N p_n f(y_n) \Delta y_n \leq u_N p_{N-1} f(y_{N-1}) \Delta y_{N-1} + \sum_{s=N}^n g(y_s) \Delta(p_{s-1} \Delta u_{s-1}).$$

Using condition (10), we obtain

$$\begin{aligned} & u_N p_n f(y_n) \Delta y_n \\ & \leq u_N p_{N-1} f(y_{N-1}) \Delta y_{N-1} + g(y_n) \sum_{s=N}^n \Delta(p_{s-1} \Delta u_{s-1}) \\ & \leq u_N p_{N-1} f(y_{N-1}) \Delta y_{N-1} + g(y_n) [p_n \Delta u_n - p_{N-1} \Delta u_{N-1}] \\ & \leq p_{N-1} [u_N f(y_{N-1}) \Delta y_{N-1} - g(y_N) \Delta u_{N-1}] + g(y_n) p_n \Delta u_n, \end{aligned}$$

and then from (9) and (11), we have

$$\frac{f(y_N)}{g(y_N)} \Delta y_n \leq \frac{f(y_n)}{g(y_n)} \Delta y_n \leq \frac{\Delta u_n}{u_N}.$$

Summing the above inequality yields a contradiction to Proposition 3.

Remark 2. Theorem 1 remains valid if we replace the conditions (9) and (10) with

f is nondecreasing,

and there exists $C > 0$ such that

$$0 < |g(r)| < C \text{ for all } r \neq 0.$$

In the proof, $g(y_N)$ in (11) is replaced by C .

Remark 3. Theorem 1 generalizes the sufficiency part of [3; Theorem 4] (see Proposition 3 above) to nonlinear equations.

The following example shows that condition (9) cannot be eliminated from the hypotheses of Theorem 1.

Example. Consider the equation

$$\Delta(n(n-1)y_{n-1}^2)\Delta y_{n-1} = \frac{n(4n^2 + 3n + 1)}{(n+1)^5} y_n^5.$$

This equation has the unbounded solution $\{y_n\} = \{n+1\}$, while the corresponding linear equation has bounded solutions (see Proposition 3). Here, $f(r)/g(r) = 1/r^3$ and so condition (9) does not hold.

3. Asymptotic Comparison. In this section we prove some asymptotic relationships between the solutions of the nonlinear equation (1) and the linear equation (2).

Theorem 2. *Suppose that*

$$(12) \quad rf'(r) \geq 0 \text{ for all } r \in \mathbb{R}$$

and there exists $M_1 > 0$ such that

$$(13) \quad |g(r)| - |r|f(r) \leq 0 \text{ for } |r| \geq M_1.$$

Then for every Class \mathcal{A} solution $\{y_n\}$ of (1), there exists a Class \mathcal{A} solution $\{u_n\}$ of (2) such that $L \equiv \lim_{n \rightarrow \infty} (y_n/u_n)$ exists and is finite.

Proof. Let $\{y_n\}$ be a Class \mathcal{A} solution of (1) with $y_n > 0$ and $\Delta y_n > 0$ for all $n \geq N_1 \geq N_0$. If $\{y_n\}$ is bounded, then the proof is obvious. Hence, assume $\{y_n\}$ is unbounded, i.e., $\lim_{n \rightarrow \infty} y_n = +\infty$. Then there exists an integer N such that $y_n > M_1$ for $n > N \geq N_1$. Let $\{u_n\}$ be a solution of (2) belonging to Class \mathcal{A} for all $n \geq N - 1$ and satisfying

$$(14) \quad u_{N-1}\Delta y_{N-1} - y_{N-1}\Delta u_{N-1} \leq 0.$$

For $n \geq N$, define

$$F_n = p_{n-1}f(y_{n-1})[u_{n-1}\Delta y_{n-1} - y_{n-1}\Delta u_{n-1}].$$

Then

$$\Delta F_n = q_n u_n [g(y_n) - y_n f(y_n)] + p_{n-1} \Delta u_{n-1} [f(y_{n-1}) - f(y_n)] y_n.$$

Since $\{y_n\}$ and $\{u_n\}$ belong to Class \mathcal{A} , conditions (12) and (13) imply that $\Delta F_n \leq 0$ for $n \geq N$. By (14), $F_n \leq F_N \leq 0$ for $n > N$, so $u_{n-1}\Delta y_{n-1} - y_{n-1}\Delta u_{n-1} \leq 0$ for $n > N$. Hence, $\{\frac{y_n}{u_n}\}$ is a positive nonincreasing sequence for $n > N$ and thus converges to a finite limit. The proof for an eventually negative Class \mathcal{A} solution is similar.

In the next theorem we add an additional condition to the hypotheses of Theorem 2 and obtain that the limit L in the conclusion of Theorem 2 is different from zero.

Theorem 3. *Let conditions (6), (12) and (13) hold. If every Class \mathcal{A} solution of (1) and (3) is unbounded, then the limit L in Theorem 2 is zero if and only if*

$$\lim_{r \rightarrow \pm\infty} f(r) = \infty.$$

Furthermore, in this case we have

$$L' = \lim_{n \rightarrow \infty} \frac{\Delta y_n}{\Delta u_n} = 0.$$

Proof. Let $\{y_n\}$ be an unbounded Class \mathcal{A} solution of equation (1), and with no loss in generality, assume $y_n > M_1 > 0$ for all $n > N \geq N_0$. Let $\{u_n\}$ be an unbounded Class \mathcal{A} solution of equation (3) satisfying (14). We will first show that $L = L' = 0$ if $\lim_{r \rightarrow \infty} f(r) = +\infty$. From equation (1) and condition (13), we have

$$\Delta(p_{n-1}f(y_{n-1})\Delta y_{n-1}) = q_n g(y_n) \leq \frac{q_n y_n}{u_n} f(y_n) u_n.$$

From the proof of Theorem 2, the sequence $\{\frac{y_n}{u_n}\}$ is nonincreasing for $n > N$, so from (2) we have

$$\Delta(p_{n-1}f(y_{n-1})\Delta y_{n-1}) \leq A q_n f(y_n) u_n = A f(y_n) \Delta(p_{n-1} \Delta u_{n-1})$$

where $A = \frac{y_N}{u_N}$. Summing from N to n and applying condition (12), we obtain

$$p_n f(y_n) \Delta y_n \leq p_{N-1} f(y_{N-1}) \Delta y_{N-1} + A f(y_n) \sum_{s=N}^n \Delta(p_{s-1} \Delta u_{s-1}),$$

or

$$p_n \Delta y_n \leq \frac{p_{N-1} f(y_{N-1}) \Delta y_{N-1}}{f(y_n)} + A [p_n \Delta u_n - p_{N-1} \Delta u_{N-1}].$$

By (2) and Proposition 4, $\lim_{n \rightarrow \infty} p_n \Delta u_n$ exists and is finite. Since N can be chosen arbitrarily large, $\{p_n \Delta u_n\}$ is a Cauchy sequence, and $f(r) \rightarrow \infty$ as $r \rightarrow \infty$, a simple argument shows that

$$\lim_{n \rightarrow \infty} p_n \Delta y_n = 0.$$

Hence,

$$L' = \lim_{n \rightarrow \infty} \frac{\Delta y_n}{\Delta u_n} = \lim_{n \rightarrow \infty} \frac{p_n \Delta y_n}{p_n \Delta u_n} = 0.$$

Conversely, if $L = 0$, then we will show that $\lim_{r \rightarrow \infty} f(r) = \infty$. Suppose $\lim_{r \rightarrow \infty} f(r) = F < \infty$. The function $p_{n-1}f(y_{n-1})\Delta y_{n-1}$ is positive and nondecreasing; hence, for large n , we have

$$(15) \quad \frac{\Delta y_n}{\Delta u_n} = \frac{p_n f(y_n) \Delta y_n}{p_n \Delta u_n} \cdot \frac{1}{f(y_n)} \geq \frac{p_n f(y_n) \Delta y_n}{p_n \Delta u_n} \cdot \frac{1}{F} \geq h > 0.$$

Since $\{\frac{y_n}{u_n}\}$ is nonincreasing, we have

$$\frac{y_n}{u_n} - \frac{\Delta y_n}{\Delta u_n} = -\frac{u_{n+1}}{\Delta u_n} \Delta \left(\frac{y_n}{u_n} \right) \geq 0.$$

From (15), it follows that

$$\frac{y_n}{u_n} \geq \frac{\Delta y_n}{\Delta u_n} \geq h > 0,$$

and the desired contradiction $L \geq h > 0$ is reached. A similar argument holds when $y_n < -M_1 < 0$ for all $n > N$.

From Proposition 6 and Theorem 3 we have the following result.

Theorem 4. *Let conditions (6), (12) and (13) hold. For every unbounded solution $\{y_n\}$ of equation (1) the limit*

$$\lim_{n \rightarrow \infty} \frac{y_n}{\sum_{s=1}^{n-1} \frac{1}{p_s}}$$

exists and is finite. Moreover, it is different from zero if and only if the function f is bounded.

4. The nonlinear Limit-Point/Limit-Circle Problem. In this section we introduce the study of limit-point/limit-circle properties for nonlinear difference equations similar to what the second and third authors did for differential equations (see, for example, [4,5] and the references contained therein). We consider equation (1) with $f(r) \equiv 1$, namely,

$$(16) \quad \Delta(p_{n-1} \Delta y_{n-1}) - q_n g(y_n) = 0.$$

A solution $\{y_n\}$ of (16) will be said to be of nonlinear limit-circle type if

$$(17) \quad \sum_{n=1}^{\infty} y_n g(y_n) < \infty,$$

and will be said to be of nonlinear limit-point type otherwise, i.e., if

$$(18) \quad \sum_{n=1}^{\infty} y_n g(y_n) = \infty.$$

We begin with the following result.

Theorem 5. *Suppose that*

(19) *$g(x)$ is bounded away from zero if x is bounded away from zero.*

If $\{y_n\}$ is a nonlinear limit-circle solution of (16), then $y_n \rightarrow 0$ as $n \rightarrow \infty$ and $y_n \Delta y_n < 0$ for all large n .

Proof. Let $\{y_n\}$ be a nonlinear limit-circle solution of equation (16). By Propositions 1 and 2, $\{y_n\}$ is nonoscillatory and eventually monotonic. Now (17) implies $y_n g(y_n) \rightarrow 0$ as $n \rightarrow \infty$, and it follows from (19) that $y_n \rightarrow 0$ as $n \rightarrow \infty$. Clearly, $y_n \Delta y_n < 0$ for all large n . A similar proof holds if $\{y_n\}$ is eventually negative.

The next result is a necessary condition for a solution of equation (16) to be of the nonlinear limit-circle type.

Theorem 6. *Suppose there exist constants $A > 0, B \geq 0$, and $K > 0$ such that*

$$(20) \quad r^2 \leq \text{Arg}(r) + B,$$

$$(21) \quad \left| (p_n)^{\frac{1}{2}} \frac{(\Delta q_n)}{(q_n)^{\frac{1}{2}} q_{n+1}} \right| \leq K,$$

and

$$(22) \quad \sum_{n=1}^{\infty} p_n \frac{(\Delta q_n)^2}{q_n q_{n+1}^2} < \infty.$$

If $\{y_n\}$ is a limit-circle solution of equation (16), then

$$(23) \quad \sum_{n=1}^{\infty} p_n \frac{(\Delta y_n)^2}{q_n} < \infty.$$

Proof. Let $\{y_n\}$ be a nonlinear limit-circle solution of equation (16). Then $\{y_n\}$ is nonoscillatory and eventually monotonic, say $y_n > 0$ and $\Delta y_n <$

0 for $n \geq N \geq N_0$. Multiplying equation (16) by $\frac{y_n}{q_n}$ and summing from $N+1$ to n by parts yields

$$(24) \quad \frac{y_n p_n \Delta y_n}{q_n} - \frac{p_N y_N \Delta y_N}{q_N} - \sum_{s=N+1}^n \frac{p_{s-1} (\Delta y_{s-1})^2}{q_{s-1}} + \sum_{s=N+1}^n \frac{p_{s-1} y_s \Delta y_{s-1} \Delta q_{s-1}}{q_s q_{s-1}} - \sum_{s=N+1}^n y_s g(y_s) = 0.$$

By the Schwarz inequality, we have

$$\left| \sum_{s=N+1}^n \frac{p_{s-1} y_s \Delta y_{s-1} \Delta q_{s-1}}{q_s q_{s-1}} \right| \leq \left[\sum_{s=N+1}^n \frac{p_{s-1} (\Delta y_{s-1})^2}{q_{s-1}} \right]^{\frac{1}{2}} \left[\sum_{s=N+1}^n \frac{p_{s-1} y_s^2 (\Delta q_{s-1})^2}{q_s^2 q_{s-1}} \right]^{\frac{1}{2}}$$

Now (20)-(22) and the fact that $\{y_n\}$ is a nonlinear limit-circle solution of (16) imply that the second sum on the right hand side of the last inequality is bounded. Also, the first term on the left hand side of (24) is nonpositive. Hence, we have

$$H_n \leq K_1 H_n^{\frac{1}{2}} + K_2$$

for some constants $K_1 > 0, K_2 > 0$ where

$$H_n = \sum_{s=N+1}^n p_{s-1} \frac{(\Delta y_{s-1})^2}{q_{s-1}}.$$

Clearly, this implies (23).

Our final result given sufficient conditions for equation (16) to be of the nonlinear limit-point type.

Theorem 7. *Suppose that (20)-(22) hold and*

$$q_n \Delta p_n + p_n \Delta q_n \leq 0$$

for all $n \geq N \geq N_0$. Then equation (16) is of nonlinear limit-point type.

Proof. Define

$$V_n = F(y_n) - \frac{p_{n-1}(\Delta y_{n-1})^2}{2q_{n-1}}$$

where $\Delta F(y_n) = g(y_n)\Delta y_{n-1}$. Then

$$\begin{aligned}
 \Delta V_n &= g(y_n)\Delta y_{n-1} - \frac{p_n}{2q_n}\Delta((\Delta y_{n-1})^2) - \frac{(\Delta y_{n-1})^2}{2}\Delta\left(\frac{p_{n-1}}{q_{n-1}}\right) \\
 &= g(y_n)\Delta y_{n-1} - \frac{p_n}{2q_n}\Delta^2 y_{n-1} [\Delta y_n + \Delta y_{n-1}] - \frac{(\Delta y_{n-1})^2}{2}\Delta\left(\frac{p_{n-1}}{q_{n-1}}\right) \\
 &= g(y_n)\Delta y_{n-1} - \frac{p_n}{2q_n} [\Delta y_n + \Delta y_{n-1}] \left[\frac{q_n g(y_n)}{p_n} - \frac{\Delta y_{n-1} \Delta p_{n-1}}{p_n} \right] \\
 &\quad - \frac{(\Delta y_{n-1})^2}{2}\Delta\left(\frac{p_{n-1}}{q_{n-1}}\right) \\
 (25) \quad &= -\frac{g(y_n)}{2}\Delta^2 y_{n-1} + \frac{\Delta y_{n-1} \Delta p_{n-1}}{2q_n} [\Delta y_n + \Delta y_{n-1}] \\
 &\quad - \frac{(\Delta y_{n-1})^2}{2}\Delta\left(\frac{p_{n-1}}{q_{n-1}}\right) \\
 &= -\frac{\Delta^2 y_{n-1}}{2q_n} [p_n \Delta^2 y_{n-1} + \Delta y_{n-1} \Delta p_{n-1}] \\
 &\quad + \frac{\Delta y_{n-1} \Delta p_{n-1}}{2q_n} [\Delta^2 y_{n-1} + 2\Delta y_{n-1}] - \frac{(\Delta y_{n-1})^2}{2}\Delta\left(\frac{p_{n-1}}{q_{n-1}}\right) \\
 &= -\frac{p_n}{2q_n} (\Delta^2 y_{n-1})^2 + \frac{(\Delta y_{n-1})^2}{2q_n q_{n-1}} [q_{n-1} \Delta p_{n-1} + p_{n-1} \Delta q_{n-1}]
 \end{aligned}$$

for $n \geq N$. Now choose a solution $\{y_n\}$ of (16) such that

$$V_N = F(y_N) - \frac{p_{N-1}(\Delta y_{N-1})^2}{2q_{N-1}} \leq -L < 0$$

and suppose that $\{y_n\}$ is a nonlinear limit-circle type solution. Summing (25) for $n \geq N$, we obtain $V_n \leq V_N \leq -L$ and summing again, we have

$$-\sum_{s=N}^{n-1} \frac{p_{s-1}(\Delta y_{s-1})^2}{2q_{s-1}} \leq \sum_{s=N}^{n-1} V_s \leq -L(n-N) \rightarrow -\infty$$

as $n \rightarrow \infty$ which contradicts Theorem 6.

Remark 4. From Theorem 7, we see that a necessary condition for the solution $\{y_n\}$ to be a nonlinear limit-circle type solution of (16) is that it satisfies

$$F(y_n) \geq \frac{p_{n-1}(\Delta y_{n-1})^2}{2q_{n-1}}$$

for all large n .

References

1. R. P. Agarwal, *Difference Equations and Inequalities*, Dekker, New York, 1992.
2. S. S. Cheng, T. C. Yan, and H. J. Li, *Oscillation criteria for second order difference equation*, Funkcial. Ekvac. **34** (1991), 223-239.
3. S. S. Cheng, H. J. Li and W. T. Patula, *Bounded and zero convergent solutions of second order difference equations*, J. Math. Anal. Appl. **141** (1989), 463-483.
4. J. R. Graef and P. W. Spikes, *On the nonlinear limit-point/limit-circle problem*, Nonlinear Anal. **7** (1983), 851-871.
5. J. R. Graef and P. W. Spikes, *Some asymptotic properties of solutions of $(a(t)x')' - q(t)f(x) = r(t)$* , in "Differential Equations: Qualitative Theory (Szeged, 1984)", Colloq. Math. Soc. János Bolyai Vol. 47, North-Holland, Amsterdam, 1987, pp. 347-359.
6. J. W. Hooker and W. T. Patula, *A Second-order nonlinear difference equation: oscillation and asymptotic behavior*, J. Math. Anal. Appl. **91** (1983), 9-29.
7. H. J. Li and S. S. Cheng, *Asymptotically monotone solutions of a nonlinear difference equation*, Tamkang J. Math. **24** (1993), 269-282.
8. H. J. Li and S. S. Cheng, *An oscillation theorem for a second order nonlinear difference equation*, Utilitas Math. **44** (1993), 177-181.
9. J. Popena, *Oscillation and nonoscillation theorems for second order difference equations*, J. Math. Anal. Appl. **123** (1987), 34-38.
10. B. Szmanda, *Oscillation criteria for second-order nonlinear difference equations*, Ann. Polon. Math. **43** (1983), 225-235.
11. E. Thandapani, *Oscillation criteria for second order difference equations*, Z. Anal. Anwendungen **11** (1992), 425-429.
12. E. Thandapani, *Asymptotic and oscillatory behavior of solutions of nonlinear second order difference equations*, Indian J. Pure Appl. Math. **24** (1993), 365-372.
13. E. Thandapani, *Oscillation theorems for second order damped nonlinear difference equations*, Czech. Math. J. (to appear).
14. E. Thandapani, I. Györi and B. S. Lalli, *An application of discrete inequality to second order nonlinear oscillation*, J. Math. Anal. Appl. (to appear).
15. B. G. Zhang, *Oscillation and asymptotic behavior of second order difference equations*, J. Math. Anal. Appl. **173** (1993), 58-68.

Department of Mathematics, Mardras University P G Center, Salem 636011, Tamilnadu, INDIA

Department of Mathematics and Statistics, Mississippi State University, MS 39762, U.S.A.

Department of Mathematics and Statistics, Mississippi State University, MS 39762, U.S.A.